TAVOLA
TABLE

MODELLO

MODEL

SERIE
SERIES

W 153 Pavoni

JOLLY

MACINACAFFE'




W |3 Pavoni

SERIE MODELLO
SERIES MODEL

MACINACAFFE'  JOLLY

TAVOLA
TABLE _

PoOsizIONE CobICE DESCRIZIONE
1 380000 - SCUDO ADESIVO NERO LA PAVONI
2 312305 VITE AGGANCIO CONTENITORE
"3 371302 CONTENITORE CAFFE’ MACINATO
4 403303 VITE TSP M4x8
5 371309 COPERCHIO TRAMOGGIA
6 371307 TRAMOGGIA CAFFE' GRAN!
7 380181 TARGA FINE-GROSSO
8 394710 ASSY SELETTORE + CAPPUCCIO
9 455000 MACINA
10 403205 VITE TCCE M4x18
11 313108 BUSSOLA PER REGOLAZIONE MACINATURA
12 311417 MOLLA PER BUSSOLA REGOLAZIONE
13 371304 SUPPORTO MOTORE
14 371303 COPERCHIO CONTENITORE CAFFE’ MACINATO
15 3262064 FASCIA COPERTURA CROMATA
3262083 FASCIA COPERTURA BIANCA
3262069 FASCIA COPERTURA NERA
3262076 FASCIA COPERTURA RAME/ORO
16 371301 SETTORE
17 402004 DADO ESAGONALE M4
18 371300 BASAMENTO
19 401004 RONDELLA DENTELLATA M4
20 371308 SUPPORTO PER TRAMOGGIA
21 380180 TARGA SELETTORE
22 403111 VITE TC M4x8
23 312383 TIRANTE
24 332329 CAVO DI ALIMENTAZIONE V.230
332330 CAVO DI ALIMENTAZIONE V.110
33231701 CAVO DI ALIMENTAZIONE V.230 Ch
25 451080 CONDENSATORE V.230
451081 CONDENSATORE V.110
26 403403 VITE AUTOFILETTANTE TS ¢ 2,9x8,5
27 371101 GOMMINO SOTTOBASE
28 435061 INTERRUTTORE BIPOLARE
29 31111301 DADO A ELICA
30 401017 RONDELLA CONTACT
31 31104901 PORTAMACINA
32 451033 MOTORE ELETTRICO V.230
451034 MOTORE ELETTRICO V.110
33 403402 VITE AUTOFILETTANTE TC 2 2,9x9,5
34 371306 FERMACAVO
35 371305

SOTTOBASE JOLLY



